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The Ancient E_g@@m Number Sg/sffnn

The Egyptian number system used symbols to represent numbers, There wasa't a symbol for
every single number. Their number system looked like this:

1 A simple notch, line or stroke

10 Arch, ar yoke

100 Coil of rope

1,000 Lotus flower

10,000 Finger

1,000,000 Egyptian God
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They didn't have a symbol for the number 9, so if they wanted to write down the number ¢,
they wrote the symbol for number one 9 times. 1f they wanted to write down %0, they would
write the symbol for 10 (the arch), four times,

It didn't matter what order they wrote the symbols in. In the number system we use today,
71 and 17, for example, are two different numbers, but in the Equptian number system,

nIQI and IQI‘ I both mean 112,
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Ancient Egyptian Mumbers

e the follewing numbers from ish to ancient i wsing the
ng ng
guide chowe. The first one i done for you
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1322
223z
1025 22
1032022
200,103 22
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We are now mosing on fo multiplication wsing the guide obove. In the first set,
mudtiphy the twe English rumbers fogether ond give your ongwer as an oncient
Egyption symbel. The first ore is done for you

»2a-s |LIITHI

B 10x5z2
B 5x5z1
0,772
1L 700 ¢ 10 22
12,2536« 10 22

In the second set, maitiply the Bnglish number ord the arcient Eqyptian symbaol
together and give your answer in English [It maoy help o write the whole calculation
in Engligh first) The first one is done for you

13 Dxﬁ:lm
ool NN
15 ?xﬁﬁ:?‘
14 !Eﬂ]x@.':?

The;\el&a/cop)g/qflﬂrw
maths task | sared
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questions clearer to- read.



17, ?x\:_!

18, 3x =l =3

Fharaohi Bairest =pilt a Mile milkshoke on the sheet and lost his symibaold It i wour job
to work out the ancient Egyption sywmhals that are missing (be coreful o some
questions are MOT multiplicotion). Write oot the whole colmulation including the
missing Eqyption symbaol. The first one surdved ond is dore for you

.lﬂn@.:![ﬂ]

L, 33 a% = 3300
L 702 =490
1000 & 2 = TE 000
23, 47«2 = 4700
203 = 140
100 =2=10
200 2=2
=2=T7
Gi-2=0
3050=-2=3M1
840 =3 =210
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Fhorooh Baires wants you fo record your arswers for the following questions in BOTH
Erglish and ancient Egypthion symbals,

3], Jock and Sophie bought 58 Sohine souvenirs eoch. How marry did they have
altogether?

32 There is room ina myramid for 45 cof fins on each of the B0
floors, Bow mamy coffing are there if +he ppromid is full?

33, It takes I0D bricks to buikd cne wall of a pyramid (each pyramid is o squore
besed pyramid with 4 walls) - how mary Bricks ill Pharaoh Bennett need fo
build TWD pyramids?

34, 20 pupils af &iza Primary School ent school dirrers. On averoge, each pupil is
given ¥ chips, How mary chips do the dirner lodies need o cook?

35, Fhorooh Baines bought 10 benches to go arcund both pyramics ke built, Each
bendh cost £100 eoch. How much did Fharooh Boires hove to pay in total for
hiz benches?




Equntian, maths task | (ANSWERS)

(7. 7x H=7 Trl&oco = o doo
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100 1000 10000 100000 1000000
Pharaoh Baines spilt o Mile milkshake on the sheet and lost his symbals! Tt is your job
Ancient Eqyptian Numbers . te werk cut the ancient Egyptian symbals that are missing (be coreful a3 some

questions are MOT multiplication). Write out the whale colculation ingluding the
missing Eqyptian symbel, The first ene survived and is done far you:

19, m:-:Q.:lﬂDO
7'““” 20.33x3-3300 1 ° O

’ Change the following numbers from English to ancient Egyptian symbols using the
quide above. The first one is done for you:

; 13=2 NI 21 TOx 2= 490 Far v LT70) .
3. 223=7 R NIl 2 1000« 7 = TBOOD ¢ e e
4.1025=2 2 At B3 AT x2=4700 ¢ =100
5 10320:=? ?l ggenn 2 24. 20x?2=140 - ]
6, 200,103=7 \\‘(“_ il 25.100:=2=10 ;
26 200+ =2 .
We are now moving on to multiplication using the guide above. In the first set, ELTT2=T ¢ = i
multiply the two English numbers together and give your answer as an ancient 2B E3+7?=9 2 & il
Eqyptian symbol. The first one is done for you: 29,3000+ =302 7 ~ N

30,840 + 2= 210 7

2 (g
7. 2x4=8 ""““ I :

g 150 x55 : ¢ "y Phorach Baines wants you to record your answers for the following questions in BOTH
DTS TEs (R AN NI English and ancient Egyptian symbals,
i; ;gg:xlc:g_’, = 1‘ &4 l ‘ OB iaa ' 31, Jeck and Sophie bought 5B Sphinx souvenirs each. How mamy did they have
e 2 \ I I g LR . altogether? 116 = & oo
In the second set, multiply the English rumber and the ancient Eqyption symbol 32. There is room in a pyraméd ﬁ':;“ SEFSHS “‘: “ffﬂl'; e oo BEER A
fogether and give your answer In English (It may help to write the whole calculation floors, How many coffins are there if the pyramid is full? &=
in English first). The first one is done for you: - 33.1t takes 100 bricks to build ane wall of @ pyremid - haw many bricks 5@ £ f © 01
will Pharach Bernett need to build TWO pyremidey 450+ L2 500
n : © 34 20 pupils at Giza Primary School eat 2chool dinmers, On overage, H..:h pupil | s
13. 10 x =100 bl S £ 1 given 7 chips. How many chips do the dinner ladies need to cook? |00 = 52 0007
) n I I I I I : 35, Pharach Baines bought 10 benches to go arownd both pyramids he built. Each
14, 100 x =? loox IS = [P = bench cost £100 each. How much did Pharach Baines have te pay in total for
n n . b4 L his benches? 3 R Eltle i
15. 7x ? = - $
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16.1000xQ|=? oce s el e 5,008 ‘

There s a copy of the maths task | answers samed separately to- make the
answers clearer to reads



